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40,000 km ÷ 24 ℎ = 1600 𝑘𝑚/ℎ =約450[𝑚/𝑠]

400[𝑚/𝑠]















20[𝑚/𝑠]
t = 5[𝑠] t = 10[𝑠] 5

𝑣 − 𝑡

𝟏𝟎[𝒔] 𝟏𝟓[𝒔]𝟓[𝒔]

速度𝒗[𝒎/𝒔]

時間𝒕 [秒]

𝟓[𝒎/𝒔]

𝟏𝟎[𝒎/𝒔]

𝟏𝟓[𝒎/𝒔]

𝟐𝟎[𝒎/𝒔]

𝟎



𝟏𝟎[𝒔] 𝟏𝟓[𝒔]𝟓[𝒔]

速度𝒗[𝒎/𝒔]

時間𝒕 [秒]

𝟓[𝒎/𝒔]

𝟏𝟎[𝒎/𝒔]

𝟏𝟓[𝒎/𝒔]

𝟐𝟎[𝒎/𝒔]

𝟎

20[𝑚/𝑠]
t = 5[𝑠] t = 10[𝑠] 5

𝑣 − 𝑡



𝟏𝟎[𝒔] 𝟏𝟓[𝒔]𝟓[𝒔]

加速度𝒂[𝒎/𝒔𝟐]

時間𝒕 [秒]

−𝟒

𝟎

𝟒

𝟖

−𝟖

20[𝑚/𝑠]
t = 5[𝑠] t = 10[𝑠] 5

𝑎 − 𝑡



𝟏𝟎[𝒔] 𝟏𝟓[𝒔]𝟓[𝒔]

加速度𝒂[𝒎/𝒔𝟐]

時間𝒕 [秒]

−𝟒[𝒎/𝒔𝟐]

𝟎

𝟒[𝒎/𝒔𝟐]

−𝟖[𝒎/𝒔𝟐]

−𝟖[𝒎/𝒔𝟐]

20[𝑚/𝑠]
t = 5[𝑠] t = 10[𝑠] 5

𝑎 − 𝑡



20[𝑚/𝑠]
t = 5[𝑠] t = 10[𝑠] 5

𝑥 − 𝑡

𝟏𝟎[𝒔] 𝟏𝟓[𝒔]𝟓[𝒔]

位置𝒙[𝒎]

時間𝒕 [秒]

𝟓𝟎

𝟏𝟎𝟎

𝟏𝟓𝟎

𝟐𝟎𝟎

𝟎



20[𝑚/𝑠]
t = 5[𝑠] t = 10[𝑠] 5

𝑥 − 𝑡

𝟏𝟎[𝒔] 𝟏𝟓[𝒔]𝟓[𝒔]

位置𝒙[𝒎]

時間𝒕 [秒]

𝟓𝟎[𝒎]

𝟏𝟎𝟎[𝒎]

𝟏𝟓𝟎[𝒎]

𝟐𝟎𝟎[𝒎]

𝟎



𝟏𝟎[𝒔] 𝟏𝟓[𝒔]𝟓[𝒔]

位置𝒙[𝒎]

時間𝒕 [秒]

𝟓𝟎[𝒎]

𝟏𝟎𝟎[𝒎]

𝟏𝟓𝟎[𝒎]

𝟐𝟎𝟎[𝒎]

𝟎







𝟓[𝒎/𝒔]

20[𝒎/𝒔]



20[𝒎/𝒔]

𝟓[𝒎/𝒔]

20[𝒎/𝒔]

𝟓[𝒎/𝒔]





𝟓[𝒎/𝒔]

𝟓[𝒎/𝒔]



𝟓[𝒎/𝒔]

𝟓[𝒎/𝒔]









= ×

 𝐹 = 𝑚  𝑎 (← )



[𝑘𝑔] [𝑚/𝑠2]

 𝐹 = 𝑚  𝑎
[𝑘𝑔 ∙ 𝑚/𝑠2]

[𝑘𝑔 ∙ 𝑚/𝑠2]
N




